T 5% B BAE ST

BECYEEPH | g | PD B ST Py =
e A = e Cl =)
5% ﬁgﬁé EKR [—«‘IFEA'l 1 HIEEE:FAOSl AR ﬁ:%'ggllﬁ ! Z 1578 F’L
s A = [ z o7 s
HR =BT ERAE Afipaoss |1 TR
— @m [ 85.2 | B
% L\jz'\ =
EES l*g&lj[—}' AR 2 IFI'E ﬁ‘lz’;‘ HE Wk
ng i HIBRFA0S2 Ew Tl 24 s
RS BT BAR S|pimEacsy |FEERE TR -
s 2 A sl @ijrs[fja e - =
TXER I:l 9; ES“ J [_}IFE‘A.I 7 ;{‘LEIEIEFA057 ﬁ [ﬁ*lﬁﬂu‘*\ %‘Eﬁj%‘%ﬁ
— B B[ 5 89.4 |ig=
i Flas Bl [EL[?EIAer eI MR M)
— Bl 58 87.9 2B
B RS BT RRAE s|y=pass | =L AHE BN .
A= 1 3| @
3 A% L AR o| =Epaoss |B T HIEEA %6
| 1 4| B
4 % B8 AR irnosy (P00 " s
B4k & = i =
HR AR BT RRAL saemraosy | [ RIS e
4% & 2, sl *E?NIHL% i A==
B BT RRAE ol 1=mEa0se |- T P
- It o[ 5 84.2 7|pE
J%p%[ﬁ&' T [E*'EE‘A“” 4| BAFA054 [lifJﬂJH'E"J A 90.6
= : 1/ &
e 2 1% ==
AR BT RRAL 1B FAOS1 E'\me‘%mm@m 862 .
9% Bl EREAR ?l_;,t%%ﬁ E . 1=
A2 BT R AY 2R BHE FIRHRRT N
355 5% B — &djéﬁ[?é%ﬂu 83.6 7 e
Ths s EMIEI A ST . 1t R T
f i 5| BHFAOSS Eyjm [[JH 83.9 s|pis




	Sheet1

